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. Examinee must write his/her Roll Number in the
specified box on the top left hand comer of this page
Answers are required {0 be marked only on lhe
Compulerised O.M.R. Answer sheet which is being
provided to the examineo

. Besides filling in the Roll Number, the examinee has to
put his’/her signature on the Answer Sheet and also fill
other required details like Name, Roll Number, Question
Booklet code, elc. as indicated on the Answer OMR
Sheet. i these details are not filled in by the examinee,
his/fher Answer Sheet will not be evaluated

. For each queslion, there are four altemative answers,
out of which only one is correct. Examinee must darken
the circle of correct option in the Answer Sheet by Black
Bali Pen only

. There are 40 (36+4) pages in this Question-Booklet
including 1 page for General Insiructions and threg
blank pages for Rough Work in the last. In case
an examinee receives an incomplete or defective
Question Booklet, he/she should make a request
1o the Room Invigilator to change the same within
10 minutes of start of the exam.

. This Question Booklet conlains 150 questions from
following subjecis :

(1) Physics Q. Nos. 1-50
(2) Chemistry Q. Nos. 51-100
(3) Maths Q. Nos. 101 -150

. Each question carries 1 mark and % mark will be
deducted lor each wrong answer
In case of any discrepancy between the English and
Hindi versions of any question, the English version will
be trealed as final/authentic

. Possession and use of electronic devices such as
Calculator, Cellular Phone, Digital Diary, Log Tabls,
Pager elc., are restricted during the examination.

. Any leaf from the Question Booklet should not be
detached. After the Examination, Question-Booklet
and Answer-Sheet must be handed over lo the Room
Invigilator

During examination the examines will not be allowed
lo leave the examinalion hall till the END of the

Examination.
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PHYSICS

1. Aconvex lens of focal length 0.15 m is

made of material of refractive index 3 o
When it is placed in a liquid, its focal
length is increased by 0.225 m. The
refractive index of the liquid is

A % B) 5,

o¥% D) %

. InYoung's double slit experiment, the two

slits are 0.2 mm apart. The interference
fringes for light of wavelength 6000A
are found on the screen 80 cm away.
The distance of fifth dark fringe from the
central fringe will be

A) 6.8 mm
C) 9.8 mm

B) 7.8 mm
D) 10.8 mm

. A diffraction patter is obtained using a

beam of red light. What happens if the
red light is replaced by blue light ?

A) No change

B) Diffraction bands become narrower
and crowded together

C) Bands become broader and farther
apart
D) Bands disappear altogether

. The moving proton and «-particle are

subjected to the same magnetic field, so
that the radii of their paths are equal to
each other. Assuming the field induction

B is perpendicular to the velocity vector |

of the a-particle and proton, the ratio of
de-Broglie wavelength of a-particle to

that of proton is

N/ B) )%

C) 1 D) 2
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5. At a certain time, a radioactive substance

contains 2 x 10? atoms andits disintegration
rate is 3 x 10" atoms/second. When
2 x 10" atoms are left to decay, its
disintegration rate will be

A) gxw"’ atom/s

B) 0.693 x 3 x 10" atoms/s
C) 3 x 10° atoms/s
D) 3 x 10" atoms/s

. Two wires of same length are shapedinto
a square and a circle. If they camy same
current, ratio of magnetic moment is
A)2:=xn B) n:2

C)n: 4 D)d4:=n

. Two identical magnetic dipoles of
magnetic moment 2 Am? are placed
at a separation of 2 m with their axes
perpendicular to each other in air, the
resultant magnetic field at a midpoint
the dipoles is

A) 44/5x107°T
C) 45x107T

B) 2J5x107°T
D) 25x107T
. P, Qand R are long straight wires in air,

carrying currents as shown in the figure.
The force on Q is directed

P Q R
N N v
20A | 40A 60A
A) to the left

B) to the right

C) perpendicular to the plane of the
diagram

D) along the currentin Q
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10.

11.

12.

13.

The magnetic fiux linked with a coil of
N turns of area of cross section A held
with its plane parallel to the field B is

A) 52’3. B) NAB
NAB
c) ~- D) 0

A coil having an inductance of 0.5 H
carries a current which is uniformly
varying from zero to 10 A is 2 second.
The emi (in volt) generated in the coil is
A) 10 B) 5

C) 25 D) 1.25

The total energy of electron in the ground
state of hydrogen atom is —3.6 eV. The
Kinetic energy of this electron in first
excited state is

A) 6.8 eV
C) 1.7eV

B) 13.6 eV
D) 34 eV

The half life of a radioactive isotope X is
50 years. It decays to another element
Y which is stable. The two elements
X and Y were found to be in the ratio of
1:15 in a sample of a given rock. The
age of the rock was estimated to be
A) 150 years B) 200 years
C) 250 years D) 100 years

The wavelength of first line of Lyman
series for hydrogen atomis equal to that
of the second line of Balmer series fora
hydrogen like ion. The atomic number
Z of hydrogen like ion is

A) 3 B) 4
C) 1 D) 2
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14.

15.

16.

17.

18.

An AC supply of 230 V is applied to
a half wave rectifier circuit through a
transformer of turn ratio 10 : 1. Find the
output DC voltage. Assume the diode
to be ideal.
A) 230V

C) 104V

B) 52V
D) 20.8V

What will be the input of A and B for the
Boolean expression (A +B)(A-B)=17

A) 0,0 B) 0,1
C) 1,0 Dy

A body of mass m, moving with a

uniform velocity of 40 ms™* collides with
another body of mass m, at rest and
then the two together begin to move

with a uniform velocity of 30 ms™. The

, ’ m, ).
ratio of their masses ( ‘} is

2/

A) 0.75
C) 3

B) 0.33
D) 1.33

In planetary motion, the angular
momentum conservation leads to the
law of

A) orbits

B) area

C) periods

D) kinetic energy

Two wires A and B have the same
length and area of cross section. But
Young's modulus of A is two times the

Young's modulus of B. Then the ratio
of force constant of A to that of B is

A) 1 B) 2
o % D) V2
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A 3R B T 3T/ =1 8 7

A) 0,0 B) 0,1

C) 1,0 D) 1, 1

m, S el G a6 40 ms™! @

T T % A e A Tt 7 m,aret

T g5 ¥ THRU! ® ot S SHi 30 ms!

% T A7 F WY T B A & | Ik

FoAHTT 1 I (-m—‘]‘%
m2)

A) 0.75 B) 0.33

C) 3 D) 1.33

G 7T & e ST EeEer

% Frm o wgEm @ |

A) T

B) &3

C) s
D) fee St

Tt ant A 3t B i T afit STgue
T BT T 8, W AT Ik B
7 T 1 QAT R | A A S wa Feais
@ B & v i &1 orgua 2
A) 1 B) 2

o ) D) V2
7 PM PCM

=




s S S g g Y e e e —

o

19.

20.

21.

22.

The equation of motion'of a particle
executing Simple Harmonic Motion is
a + 16n2x = 0. In this equation, a is the
linear acceleration in ms=2 of the particle
at a displacement x in metre. The time
period in simple harmonic motion is

1 1
A) 7S B) s

C) 1s D) 2s

The average kinetic energy of a gas

molecule is

A} proportional to pressure of gas

B) inversely proportional to volume of
gas

C) inversely proportional to absoiute
temperature of gas |

D) proportional to absolute temperature
of gas

An electric field is given by
E =(yi+xj)NC'.The work done in
moving a 1C charge from

ry =(2i+2))mtor, = (4i+j)m is

A) +4J B) -4J

C) +84 D) zero

There is a current of 4.8 ampere in a
conductor. The number of electrons that
cross any section normal to the direction
of flow per second is

A) 10"
C) 3x10®

B) 2x10'
D) 7x10®
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23. Magnitude of drift velocity per unit

electric field is

A) Current density
B) Current

C) Resistivity

D) Mobility

. The colour code for a resistor of
resistance 3.5 kQ with 5% tolerance is

A) Orange, green, orange and gold
B) Orange, green, orange and sitver
C) Orange, green, red and silver

D} Orange, green, red and goid

. What is the potential difference between
the points A and B in the circuit diagram

shown in figure ?

20V
[A
5Qz z80
B c
1003 240
A 29 vorr B) 19 voit
3 3
20 10
C) =2 Volt D) = Voit
V3 J3

. An electric bulb rated 220 V, 100 W is
connected in series with another bulb
rated 220 V, 60 W. If the voltage across
the combination is 220 V, the power
consumed by the 100 W bulb will be
about

A) 25 W B) 14W

C) 60W D) 100 W
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27.

28.

29.

30.

A potentiometer wire 10 m long, has

a resistance of 40 Q. it is connected
in series with a resistance box and a
2 V storage cell. If the potential gradient
along the wire is 0.1 mV/cm, the
resistance unplugged in the box is

A) 260 Q B) 760 Q

C) 960 Q D) 1060 Q

In the loop shown, the magnetic
induction at the point O is

ol [ Ry =R, |
A 2y <
) 8 B R1H2 _
g bl 'R, +R, |
Myl f Ry R, |
C) |2
8 [R+R;

D) Zero

Ampere's circuital law can be derived
from

A) Ohm's law

B) Biot-Savart law

C) Kirchoff's law

D) Gauss law

When 0.005 A current flows through a
moving coil galvanometer, it gives full
scale deflection. It is converted into a
voltmeter to read 5 V using an external
resistance of 975 Q. The resistance of
the galvanometer in ohms is

A) 5 B) 10
C) 15 D) 25

Page No. 9
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31. When acurrent of 2 A flows in a battery
from negative to positive terminal the
potential difference acrossitis 12 V. If
a current of 3 A flowing in the opposite
direction produces a potential difference
of 15V, the emt of the battery is

A) 12.6 V B) 132V
C) 135V D) 140V

32. With a potentiometer, null points are
obtained at 140 cm and 180 cm with cells
of emf 1.1 V and one of unknown value

respectively. The unknown emf is
A 11V B) 1.8V
C)1sV D) 141V

33. An infinitely long conductor is bent into
the shape as shown in the figure. It
carries a current | and the radius of the
circular loop is r. Then magnetic field at
the center of the loop is

Myt = %,
7 7
A) zero B) infinity
| !
c) Mo 1 D) Mo, _
) 5Tt ) o ()

31.

32.

33.
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34.

35.

36.

37.

In a current carrying long solenoid,
the magnetic field produced does not
depends upon

A) Current flowing

B) Number of tumns per unit length

C) Radius of the solenoid

D) All of the above

A circular loop of area 0.01m?2 carrying
a current of 10 A is held perpendicular
to a magnetic field of intensity 0.1 T.
The torque acting on the loop is

A) Zero B) 0.01 Nm

C) 0.001 Nm D) 0.8 Nm

The figure shows a LCR network

connected to 300 V AC supply.
The CIrCUIt elements are such that
0Q. V,V,and V,

are three AC voltmeters connected
as shown in the figure. Which of the
following represents the correct set of

readings of the voltmeters ?
V2 Va

O

L C

300V

A) V. =100V,V,=100V,V, =100V
B) V,=150V,V,=0,V, =150V
C)Vv,=300V,V,=100V,V, =100V
D) V,=300V,V,=300V,V, =300V
A transformer with efficiency 80% works
at 4 KW and 100 V. if the secondary
voltage is 200 V, then the primary and
secondary currents are respectively

A) 40A,16 A B) 16 A,40A
C)20A,40A D) 40A,20 A
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38. The rms value of the electric field of the

39.

40.

light coming from the sun is 720 NC'.
The total average energy density of the
electromagnetic wave is

A) 3.3 x10°dm™

B) 4.58 x 10 Jm®

C) 6.37 x 10% Jm™

D) 81.35x 102 Jm™

An object placed infront of a concave
mirror at a distance of x cm from the
pole gives a 3 times magnified real
image. if it is moved to a distance of
(x + 5) cm. The magnification of the
image becomes 2. The focal length of

the mirror is
A) 15¢cm B) 20cm
C) 25cm D) 30cm

A vessel of depth (2d} is half filled
with a liquid of refractive index p.,.
The remaining upper half is filled with
another immiscible liquid of refractive
index u,. The apparent depth of the
vessel, when viewed normally is

A) §[1+l] B) 2d[—1-+l]
B K Hy H

0 d[1+i] D) 3[_1_4;]
Hy, My dip, u

38. g4 T TR T THWT & Frega &9 1 rms

39.

40.
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A) 3.3 x 107 Jm®

B) 4.58 x 10 Jm®

C) 6.37 x 10 Jm™

D) 81.35 x 1072 Jm
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41.

42.

Two fixed point charges + 4e and + e
units are separated by a distance a.
Where should the third point charge
be piaced in between them to be in
equilibrium ?

A) At a distance 3—23 from + 4e charge

B) Ata distance 235 from the charge

+4e

C) At adistance '4—; from + 4e charge

Ja

D) At a distance ~— from the charge

+4e

Charge Q is distributed to two different
metallic spheres having radii R and
2R such that both spheres have equal
surface charge density. Then charge on
larger sphere is

|

A) —Q

=
SUFe)

2]
|w
o

=)
'S
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o s e  <fradt foig s ==l w@n
g ?

A) +4e &N %fﬁq\ﬁm
2a
B) +4e311?mﬁ? EIRCA

0) +de M2 2 Al
3a
D) +4e3HAA A

AW QI R 3 2R B=esitam &) fm
efearss Tt & 39 YRR i Rrn e
o6 St T 1 IS STTENT S WHM B
W 9 T W AT E

.
0o

& 0
sl 0w oD ©b
S

=
9]
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43

45,

Two identical capacitors 1 and 2 are
connected in series to a battery as
shown in the figure. Capacitor 2 contains
a dielectric slab of dielectric constant K.
Q, and Q, are the charges stored in
the capacitors. Now the dielectric slab
is removed and the corresponding

charges are Q, and Q;, then

. 1
1 2
o
Il—
E r
A Qi K+ B PR
Q K Q, 2
Q, _K+1 Q; _K
Y Q, D)igea2

The electric potential at a point in free
space due to a charge Q couiomb is
Q x10" V. The electric field at that
point is

A) 4re Q x 102 Vm™*

B) 127, Q x 10* Vm™!

C) 4ne Q x 102 Vm~!

D) 12re,Q x 102 V!

The resistance of a 10 m long wire is
10 Q. lis length is increased by 25%
by stretching the wire uniformly. Then
the resistance of the wire will be
A) 1250 B) 145Q

C) 156 Q D) 186 Q
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43, QTHEAF G 1 31K 2 T 9 @ e

45.

3 o & @ argaw i€ §) o 2 &

TR TN K 51 U IR W 8
Q, 3fr Q, =it # sigta amaw #1 o @
Tgfoeh e g <t T R SR W e
Q; I QR @
[ 1 I |
24 |
1 2
]
M |
Ay G _Ket gy G K
Q, T K Q 2
Q _K+1 Q _K
© Q, 11‘5
T AT Q FA o FH0 950 W § TF

Frwmm e Qx10"v3iTmfiigw
EEGEER

A) 4re Q x 102 Vm-?

B) 12rne,Q x 102 Vm-!

C) 4ne Q x 10 Vm™!

D) 12re,Q x 102 Vm-*

10 +t. ¥s & arE afade 10 Q2| zah

WA O 5 GHH €9 8 Giae 25% S5
AT B TR R M

A) 125Q B) 145Q

C) 156 Q D) 186 Q
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46.

47.

48.

49.

50.

The light ray is incidence at an angle
of 60° on a prism of angle 45°. When
the light ray falls on the other surface at
907, the refractive index of the material
of prism n and the angle of deviation &
are given by

A) B=+2,5=30°
B) p=15,5=15°

C) u=%,5=30°

’3
=,[=,8=15°
D) H >

A ball is dropped from the top of a
building 100 m high. At the same instant
another ball is thrown upwards with a
velocity of 40 ms™' from the bottom of the
building. The two balls will meet after

A) 3s B) 2s
C)25s D) 35s
Two balls are projected making angles of

30° and 45° respectively with horizontal.
If both have same velocity at the highest
point of their path, then the ratio of their
horizontal ranges is

A)1:3 B) 3:1
C) V3:42 D) 1:43
Two blocks of 2 kg and 1 kg are in contact

on a frictionless table. If a force of 3N is
applied on 2 kg biock, then the force of
contact between the two blocks will be

SN J 219

VAV A

A) ON
C) 2N

1kg
VST A GV A 4

B) 1N
D) 3N

if the linear momentum is increased
by 50%, the kinetic energy will be
increased by
A) 50%
C) 125%

B) 100%
D) 25%

Page No. 15

|

46, TT 45° % TF T W 60° F TF IV W T

47,

48.

49

50.

TSI farcor arafo Bt 8 | ST wehmn <l o
311 983 90° T et & @t Torem o o el =t
iR et o7 oo i § &l

A) B=+2,5=30°
B) p=1.5,6=15°

C) p=—‘/§§—.5=30°

K
_-J—,a-_15°
D) K=1y5

W g 100 7. S=h wr grma s e |
T sare | Serawa ARG e 40ms™
% o7 Y FICHT 3T U 7 T et ATeh)
2 IgHiTe a7 et |

A) 3s B) 2s

C) 25s D) 35s

A TTE] 21 SHEET: 30° 3T 45° Freh e
U g HHTSTaTe | Al IHt R ot
T % Faies fagell W wwE 3 g ?, @
et S Wil = agma R

A)1:3 B) 3:1

C) J3:42 D) 1:43
21 2 fo.am. i 1 R %Wﬁmqaﬁmfm

et manhad 1aRINTI @ aa
2 T, o ST TSI ST 8, Y S

Trgelt & s e s g
N | 2 e

7 7 7 7T 7T 77
A) ON B) 1N
C) 2N D) 3N
i gw | = 50% 91 T sm
TRe st =g W |

A) 50% B) 100%

C) 125% D) 25%
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51.

52.

53.

54.

55.

56.

CHEMISTRY

According to Dalton’s law of partial
pressure, total pressure p, ,, =

A) B;+(Py—P;)%
B) 1} +(ps—p})%
C) p; %z +{p; ;)
D} b, % +(p, =P} )%

The value of Van't Hoff factor ‘' for
ethanoic acid in benzene is nearly

A) 1.0 B) 1.5

C) 0.5 D) 1.21

Unit of molar conductivity, Ay, is

A) Sm' mol B) Scm? mol™!

C) Scm mol D) S%cm? mol™’
is suitable for hearing aids.

A) Dry cell

B) Nickel-cadmium cell
C) Mercury cell

D) Lead storage cell

Identify ‘A’ in the following reaction :

AI203(8)+6HCI(aq)+9HaOm—> a,:l)+GCI'(aq)
A) [AI(H,0), B) [AI(H,0)]*
C) [A(H,0),]* D} [AI(H,0)]

Which of the following ion in aqueous
medium has orange colour ?

A) Cr,0,% B) Cr**
C) MnO,” D) MnO 2

Page No. 16

LGICEREED

51. TTered & A T Rt & SR, 3
T:".Ia.plma.lz

A) Py+(p;-pi)x2
B) b, +(p,~p;)%
C) P} x2+(p3 -9})
D) p, x+(p; —p})%e

52. =fi7 1 3T Tflie & forg de 8T Fat

' 1 T TP &
A) 1.0 B) 1.5
C) 0.5 D) 1.21

53. AR SETEHE A, i 50K &
A) Sm' mol B8) Scm? mol!
C) Scm? mol D) S%m?2 mol™

54, FH I I % fore ST R
A) T= 8@
B) Fea-seimm aa
C) T o
D) Hi yeR o

55. w1 il ‘A’ i =T :
A Oqjt Bl t9H,0y = 241601 g
A) [AI(H,0),J** B) [A(H,0)g[*
C) [A(H,0),I" D) [Al{(H,0)]

56. Seng wreaq# fer i @ g s s i
Tare ?

A) Cr,0,% B) Cr**
C) MnO,” D) MnO,2"
7 PM PCM
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57.

58.

59,

60.

61.

62.

Picric acid is prepared from
in presence of conc. HNO,.

A) Carboxylic acid
B) Phenol

C) Nitrobenzene
D) Benzaldehyde

Williamson’s ether synthesis involves

mechanism,
A) 5,1 B) E1
C) §,2 D) E2

Which one of the following complex is
Diamagnetic ?
A) [Fe (CN),]*
C) [CoF >

B) [Co(C,0,)F

D) [Mn (CN)J*>
is used in electroplating.

A) Hexane dioic acid

B) Benzoic acid

C) Methanoic acid

D) Ethanoic acid

Identify the type of isomerism
exhibited by the following complex :
[Cr(NH,),] [ Co (CN),]

A) Linkage isomerism

B) lonisation isomerism

C) Co-ordination isomerism

D) Solvate isomerism

Name the following reaction :

X R
@+ Na + RX __Einer @ﬁ

NaX

A) Wurtz—Fittig reaction
B) Wurtz reaction

C) Fittig reaction

D) Swatz reaction
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o7.

58.

59.

60.

61.

62.

TS amt @i HNO, =t Safeurfa
A2l

A) FETYITS 3

B) Tt

C) TEISA

D RISHES

Trferrmem & fer dydwo i e
i Bl

A) S,1 B) E1

C) S,2 D) E2

= 1 A e e wfo-gefim @
A) [Fe (CN).J B) [Co(C,0,).*
C) [CoF,J* D) [Mn (CN).J*-

T ST g e | gt 21
A) THH SHITH 3

B) sistissh I

C) TerigeE 3

D) 3UMIEH 30T

Frferfiae @i g wefifa i =@
YhR 18T

[Cr(NH,),] [ Co (CN),]

A) o= TmEaa

B) Aot ¥HETS

C) UH=a THEEd

D) Wicae auEaa

Treferfaa arfsriemn =1 am saRe
X R

@+Na+HX _-E_t_h_er_) @/+
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63.

64.

Complete the following reaction.:
CH,

s L oy _20%HPO,
| 356K
CH,
CH,

I
A) CH,~ C -CH, +H,0
CIJHO
B) CH,- CH-CH, +H,0
C) CH, ~CH, - CH,+H,0
D) CH, = CH—CH,+H,0

0]
Correct IUPAC name of Cf is
CH,

A) 1-methyl cyclohexanone
B) 5-methyi cyclohexanone
C) 2-methyl cyclohexanone

-D) 2-methyl benzanone

65.

66.

Which of the following carboxylic acid
undergo HVZ reaction ?

A) CH,COOH

B) HCOOH

C) C,H.COCH
0

D) CI- clz- COOH
Cl

Chlorine reacts with
bleaching powder (Ca(OCl),).
A) CaCoO,

B) Ca (HCO,),

C) Ca(OH),

D) CaO

to give

63.

64.

65.

66.

Prferfir ST ) o A
CH,

20%H,PO,

|
CH,— C - OH
| 358K

CH,
CH,

|
A) CH,- C —CH, +H,0
CHO

' I
B) CH, - CH-CH, +H,0

C) CH, - CH, - CH,+H,0
D) CH, = CH—CH,+H,0
0

1Tt IUPAC Tm 2
CH,

A) 1-fremds aRaRTAAN
B) 5- Pue GEacieaaT
C) 2-fruRa wrEaieaa
D) 2-Memge soaA

Tietfcrfiaa # @ - wEiRs o
HVZ axfsifsran sm ?

A) CH,COOH
B) HCOOH
C) C,H,COOH

Cl

I
D) Ci-C-COOH

|
Cl

FANA o Ty FTrfsRaT R seftfem
IR (Ca(OC!),) Sl

A) CaCOQ,

B) Ca (HCO,),
C) Ca(OH),
D) Ca0
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67.

68.

69.

70.

71.

72.

In Deacon’s process, catalyst used is
A) CuCl B) CuCl,

C) FeCl, D) FeCl,

Tear gas among the following is

A) CCl, B) CCI,NO,
C) coCl, D) CH,CI

is an example for
molecular solid.
A) SiO, B) ZnS
C) CaF, D) SO,

The green manganate is
A) Antiferromagnetic
B) Ferromagnetic

C) Diamagnetic

D) Paramagnetic

A first order reaction is found to have
a rate constant, K = 5.5x10™* s™'. The
half-life of the reaction is

A) 1.26x10"s B) 1.26x10%s

C) 1.26x10%s D) 3.69x10%%s

In Haber’s process for manufacture
of ammonia, the catalyst used for
increase the rate of reaction is

A) Copper
B) Vanadium
C) Iron

D) Chromium

Page No. 19

67. T wimn o swm dRaen o

68.

69.

70.

71.

72.

A) CuCl B) CuCl,

C) FeCl, D) FeCl,

fadd g ia?

A) CCl, B) CCI,NO,

C) COCl, D) CH.CI
ST 31 T I B

A) SiO, B) ZnS

C) CaF, D) SO,

FIUR: UC A

A) wfi-egadim

B) weda

C) wiigesha

D) sgehE

e Hife ) weh i w1 R Feas

K=5.5x10" 52 | atfufrn it orufg 2
A) 1.26x10""s B) 1.26x10%s
C) 1.26x10"%s D) 3.69x10%s

amtan & fmfor & fRre gew wfwan 4,
arfirfa i st wgT & o wEd e ©

A) s
B) Fiaw
C) e
D) wifEm
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Py

73. During concentration of ore, the
depressant used when the ore
containing ZnS and PbS is

A) NaCN B) NaCl

C) MgCl, D) HCN
74. Deacon’s process is used for the

manufacture of

A) Chlorine

B) Sulphuric acid

C) Ammonia

D) Nitric acid

75. The structure of XeF, is
A) Pyramidal
B) Distorted octahedral
C) Tetrahedral

D) None of the above

76. Drugs that bind to the receptor site and
inhibit its natural function are called

A) agonists

B) antagonists

C) antibiotics

D) antidepressants

77. Antiseptic, dettol is a mixture of
chloroxylenol and

A) terpene
C) terpineol

B) tetracyclin
D) iodoform

78. Isoprene is
A) 2-methyl - 1, 3-butadiene _
B) 3-methyl - 1, 2-butadiene
C) 1-methyl — 2, 3-butadiene
D) 1, 2, 3-trimethyl pentane

C Page No. 20

73. 39 % UEETS UAg ZnS 3 PbS Tt
ITeh W wgEa ades (fedwe) @
A) NaCN B) NaCl
C) MgCl, D) HCN

74. fewia 6 v % fafmin 8
YT R |
A) TARH
' B) HeH[{F A
C) i
D) Tgfes an=

75. XeF % €T ?
A) faufies
B) faafia sremivia

C) agshivi
D) o A A w7

76. At TEe W sEa Al 3N TS TS
1 %I iR A Il G FEANN ©
A) TR
B) wfeuaht (dermifee)
C) i (Wemifes)
D) rEwEH (wWifgdHe)

77. 2 AT, FARIAICHAIRT 3T T
w fgm R

A) T B) B
C) fifteiw D) TEiHt
78. a2

A) 2-TaEe - 1, 3-s5geEA
B) 3-frme- 1, 2-[ger
C) 1-Frmge- 2, 3-=gre’A
D) 1, 2, 3-ZEfuEe Je7
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79.

80.

81.

82.

83.

Water soluble vitamin is
A) Vitamin A
B) Vitamin D
C) Vitamin E
D) Vitamin C

G

+ 2Nax.
This reaction takes place in presence of

A) Alkyl halide

B) Ahydrous AICI,
C) Ahydrous FeCl,
D) Dry ether

Co-ordination number of Fe in
[Fe(C,0,)F-is
A) 6
C) 3

B) 4
D) 2

Square pianar complex of the type
MABXL (where A, B, X, L are unidentate)
shows isomers.

A) two trans and one cis
B) two cis and one trans
C) three trans

D) three cis

is structure of XeOF,.
A) Square planar

B) Pyramidal

C) Square Pyramidal

D) Planar Pyramidal

Page No. 21

79. T & goRiier Rrarfim @

80.

81.

82.

83.

A) feafm A
B) faafim D
C) fFafm E
D) i C

0O

+ 2Nax. .

7 wfafsha 3ol suferfa 7 € 2
A) THES IS

B) fisiat AICI,

C) T FeCl,

D) Y= 2R

[Fe(C,0,),]*~® Fe & wv=1a GE 2
A) 6 B) 4
C)3 D) 2

MABXL (ST&T A, B, X, L 3T ESee® ) W
Fart i Al HATEHIE !
ZaT 2

A) T T 3R |

B) < R i@ zig

C) A g

D) o+ fam

XeOF , #i &&= e
A) T TR
B) fafies
C) = frafirew
D) Wi ffies
7 PM PCM



84.

85.

86.

87.

88.

89,

Ferrimagnetism is shown by
A) CrO, B) MnO
C) CuCl, D) Fe,0O,

P,+3NaOH + 3H,0 — PH, + Awhere
product A is
A) NaH,PO,
C) NaH,PO,

B) NaHPO,
D) NaH,PO,

All natural and artificial radioactive
decay of unstable nuclei take place by

Kinetics.
A) Zero order

C) Second order

B) First order
D) Third order

Which noble gas does not occur in the
atmosphere ?

A) Krypton
C) Helium

B) Argon
D) Radon

In Freundlich isotherm,
log % = log k+ % log p, the value of n is
A) between 0 and 1

B) between 1 and 2
C) between 2 and 3

D) between 1.5and 2.5

The formation of micelles takes place
only above a particular temperature
called

A) Critical temperature

B) Super critical temperature
C) Kraft temperature

D) Elevated temperature

84, e (AT T g R
TR

A) CrO, B) MnO
C) CuCl, D) Fe,O,
85. P,+ 3NaOH + 3H,0 - PH, + A&l

FE AR

A) NaH,PO, B) NaHPO,

C) NaH_PO, D) NaH,PO,
86. ATeR Tl F Bt wpfers it Hhm

et sagm Fafesa g

BT

A) T3 Fife B) w&w ®ife

C) TSI D) dEu e

87. i e T argres & e e ST ?

A) e B) 1A
C) diferm D) ¥ (Radon)
88. Thesitr (Freundlich) ety
|og%=|ogk+%|ogpﬁnmw%
A) 031
B) 13t 2% =
C) 23 3™
D) 1.5 2.5% 4
89. Tordew =1 Fmivr Faa w faw arawm &
IRERT 8, Tt Ferwmar @
A) wifdw (Trfewa) aomm
B) atfd shifaw amaw™
C) FTE a9uH
D) ¥4 q9HHE
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90.

91.

92.

93.

94,

95.

Mond process is used for refining
A) Fe B) Cu
C) Al D) Ni

Benzene sulphonyl chioride is called as
A) Lucas reagent

B) Tollen’s reagent

C) Fehling’s reagent

D} Hinsberg's reagent

Night blindness is caused due to the
deficiency of following Vitamin.

A) Vitamin B,
C) Vitamin C

B) Vitamin A
D) Vitamin E

When Hexamethylenediamine and
adipic acid undergo condensation
polymerisation at high pressure and
high temperature to form

A) Nylon 6, 6 B) Nylon 6
C) Terylene D) Bakelite

Neoprene is an example for the
following type of polymer.

A) Thermosetting polymer
B) Thermoplastic polymer
C) Fibres polymer

D) Elastomers

Which of the following transition element
exhibit the oxidation state of +7 ?

A) Mn B) Fe
C) Ni D) Cu

Page No. 23

90.

91.

92.

93.

94,

95.

HE Ve =1 39T 30 Rewrli o B d
A) Fe B) Cu
C) Al D) Ni

FS YR TANGE _ FETe |

A) g faste
B) oo fasie
C) hefem fiasie
D) féaert frwsie
Wit Prsfrea Refm Rt wd
TR |
A) faarfi= B, B) faafm A
c) faafimc D) frifmE
S TR eEeTET o uRfim
I 59 g I I YN W HEH
TEARNE FA @, A AT |
A) AT 6, 6 B) T3 6
C) fwhm D) Fellge
Hetl F=faRes R & agos w1 &
IR R |
A) TG STgeTh
B) W e SgTieh
C) Wg 9gw+
D) SAREMT
T o @ o e T +7 St At
feurfa emian 2 2
A) Mn B) Fe
C) Ni D) Cu
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96

97.

Axial angles (Edge angles) of
Tetragonal crystal system is equal to
A) a=p=90°%7 =120°

B) a=v =90° p=+90°

C) a=p=y =90°

D) a=pB=y=90°

When Germanium is doped with
phosphorous is an example for

A) n-type-semiconductor
B) npn-semiconductor
C) p-type-semiconductor

- D) pnp-semiconductor

98.

99.

100.

To increase the solubility of CO,in
soft drinks and soda water, the bottle
is sealed under

A) High temperature

B) Low pressure

C) Low temperature

D) High pressure

When blood cell is placed in a solution
containing more than 0.9% (mass/
volume) saline solution, the blood cell
will shrink due to

A) Osmosis

B) Reverse osmosis
C) Dilution

D) None of these

The standard electrode potential for
Daniel cell is 1.1V, the standard Gibbs
energy for the reaction
Zn(s) + Cu? e Zn* ™
A) -212.27 Kdmol-!

B) +212.27 KJmol™
C) - 212.27x107 Kdmol™
D} +212.27x107 Kdmol™

ot Cug, is

| 96.

97.

98.

99.

100.

W SIS Torceet ottt 3 3 shor (Rt
% HI0T) T SRR B

A) a=pf=90°%7y =120°

B) a=v =980° p=90°
C)a=p=y=90°

D) ox#f#y+90°

o THET % 9 SReRE e S E,
L I&Ed . HITHIEE |

- A) N-TeHR T ST

B) npn
C) p-YHR &1 AHATTH

D) pnp-AiaTeTR

T fiww iR AigT @ # CO,H
e Sg % foTT Tl aee
% dicreie R s e |

A) 359 ATOHE

B) fi= 3@

C) = armm

D) ¥4 T®

e W IR B 0.9% B 21fte (Femr/
Ie) @R frerm a1 femm 3 s ST
3, AR % www g sl 8
A) TUET

B) IeeT TUET

C) fawm

D) T4 ] i el

g & & R s s@mw e
1.1V 2 | arfrfsean

2+ 2+
Zng, + Cu®* , —2Zn

% fore wre fism =il @

A) —212.27 KJmo!-'

B) +212.27 KJmol™*

C) -212.27x107 Kdmol™
D) + 212.27x107 KJmol"

+ Cu

(aq) 53]
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101.

102.

103.

104,

105.

MATHEMATICS

Iif °P; + 5°P,= P, find the value of r.
A) 5

B) 4

C) 1260

D) None of these

Find the number of permutation of all
the letters of the word ‘MATHEMATICS’
which starts with consonants only.

Ay 10!
8

) 10!

2
11t
Q) B

D) None of these

The coefficient of x* in the expansion of
(1 +x+2+x3N.

A) 990
B) 999
C) 991
D) None of these

The remainder when 6"— 5n is divided

by 25is
A) 4 B) 1
C) 0 D) 6
2 —\/1+cosx )
The value of lim S x is
1 1

Ay B) —

) 242 : 8v2
c) — D) — ——

) 42 42
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101.

102.

103.

104.

105.

T
T2 °P, +5°P,= P ¥, @ r %1 UM ¥
E2y)
A) 5
B) 4
C) 1260
D) S € %18 o
Tee ‘MATHEMATICS' & weft sl &
FHEA! it TEAT T B, I el 49 &
Y JEEael
a) 10!
) 8
g) 10!
) 2
111
C) )
D) 370 O & ol
(1 +X + X2+ x)" & T # e
7O R
A) 990
B) 999
C) 991
D) ST ¥ %
9 6"~ 5n ! 25 9 AT ST R,
Lk i
A) 4 B) 1
C)o D) 6
"m\./ﬁ—\./i:- cos X —
X0 sin° X
1 B 4 1
A 25 v
1 1
Y 1z V-4
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. 2 3
2 -1 3
: = B=i4 -2]|,
106. If A [ 5 1] and

1885
then '

A) Only AB is defined
B) Only BA is defined
C) AB and BA both are defined

D) AB and BA both are not defined

107. If x, y €R, then the determinant
‘COSX —sinx 1

A=! sinx COSX 1
| cos{x+y) -sin(x+y) 0

lies in the interval
A) [-V2.42]

B) [-1,1]
c) [-v2.1]
D)

-]

108. The two curves x° - 3xy2 +2 =0 and
3y —-y3=2

A} Touch each other

w0
3
C) Cut at right angie

B) Cut at an angle

D) Cut at an angle %

™ . . - Rl o
Fade iNuv, £0

P} As) K]
1oe.wféA=[_4 5 1]aﬂts= 4 -2
g,
A) Fad AB =i uferfia fear @
B) A BA i qfonfya fha mm g
'C) AB 21t BA 51 uftnfya fd & €

D) AB 3R BA <1 uftorfia = R = €

107. afEx, y cRE, &

‘ COSX —-sinx 1
A=| sinx cosX 1
| cos(x+y) -sin(x+y) 0

e ataue # o ?

A [-V2,42]
B) [=1, 1]

o) [-V2.1]
D) [-1-2]

108. A FHx° — 3xy? + 2 =0 3M Ity — = 2
A) 31g # woaf Fa 2
B) gﬁwmm%
C) FHeRIv § #2d &
D) gﬁwm%
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109. The point on the curve y2 = x, where

110.

111.

112.

the tangent makes an angle of T with
, = 4
the X-axis is

» ()

° (+2)

C) 4,2)
D) (1,1)

d )
————is equal to
J sin? xcos?x " <4

A) tanx + cotx + C
B) tanx + C

C) tanx—~cotx+C
D) (tanx ~cotx)? + C

The amplitude of Sin §+ i (1 —cos E) is

5
2n L3
T ® 3
n T
©) 35 T

The equation of the circle having centre
(1, —2) and passing through the point of
intersection of the lines 3x + y =14 and
2x+ 5y =18is

A) X¥+y2-2x+4y—-20=0

B) x®+y2—-2x—4y-20=0

C) ®+y*+2x~4y-20=0

D) x*+y?+2x+4y-20=0
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109. T y2 = x TUTET TR X-a75 & %

110.

111.

112.

F R R, 78 g
» (34)

gl
® (32)
C) 4,2)
D) (1,1)

J' dx

sin® xcos®x
A) tanx +cotx + C
B) tanx+ C

C) tanx—=cotx + C
D) (tanx —cotx)*+ C

sing+i [1—cosg] 1 faen @

2r n
A) = B) £
T T
C) 15 D) 10

(1, - 2) g M@ 3x + y = 14 3k
2x + 5y =18 % IR e forg A oA Il
TN T YR R

A) ®+y?-2x+4y-20=0

B) x+y2-2x~-4y-20=0

C) C+y2+2x—4y-20=0

D) ¥+y?+2x+4y-20=0
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1 13 The equation of the ellipse whose centre
is-at the origin and the X-axis, the major
axis, which passes through the points
(-3, 1)and (2,-2)is
A) 5x2 + 3y? =32
B) 3x%+ 5y? =32
C) 5x¢—-3y?=32
D) 3x*+5y*+32=0

114. What is the locus of a point for which
y=0,z=07

A) Equation of X-axis
B) Equation of Y-axis
C) Equation of Z-axis
D) None of these

1+24+3+...+n

115. lim . ,neN is equal to
n—yo n
A) O B) 1
1 1
C) 3 D) g

116. The equation of a straight line which
passes through the point (3, 4) and the
sum of its intercepts on the axes is 14 is

A) X+y=7 B) x-y=7
C)yx+y=~7 D) x—-y=-7
x°, x<0

M7 Hfx)= | 3x-2, 0<x<2.then

x2+1, x>2
f=1) +f(1) +1(3) =
A) 12
B) 10
C)9
D) None of these

113, diefga oo 3% 1@ W R ol e aw
X- &8, S (- 3, 1) 3k (2, - 2) forgeii @
TORET 8, STHT T B
A) 5x2 + 3y* =32
B) 3x® + 5y? =32
C) 5x2—3y2 =32
D) 3x2+5y2+32=0

114. fafrgF Rty =0,2=0%, 30
g2
A) X- 318 T GHIE
B) Y- &1 <1 G
C) Z- 1% Fl GHIsH
D) T8 A i

115. tim 1+2+32+...+n
M=o n

A) 0 B) 1

,neN &I

1 1
C) 3 D) 3

116. T Hitdt {@ = w2, it g
(3, 4) A TR oA 8 3T 78 W IGH

FTCET HT AT 148 ?
A) x+y=7 B) x-y=7
C)x+y=-7 D) x—-y=-7
x°, x<0
117. 3R 1) = { 3x_2, 0<x<2 &
x2+1, x>2
f(=1) +f(1) +1(3) =
A) 12
B) 10
C)9
D) 3T A 18 &
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118. K2+ 3x+5=0andax®+bx+c=0

119.

120.

121.

have common root/rootsanda, b, c e N,
then the minimum valueofa+b +¢
A) 5 B) 4

C)9 D) 8

The product of three cube roots of
unity is
A) 0
C) w?

B) 1
D) w

There are ‘n' locks and ‘n’ maiching
keys. If ali the locks and keys are
to be pertectly matched, then the
maximum number of trials required
to open a lock

A B) n+1

) n )2
n{n-1)

C)P_(_"E*:_D D) =5

Let A and B be two events such that
P(A) = 0.6, P(B) = 0.2 and P(A|B) = 0.5.
Then P(A'|B')equals

1
A) 10

Sl

B)

C)

~l|ow omlw

D)
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118. AR X2+ 3x+ 5= 03N ax+bx +c=0

119.

120.

121.

FumAqae/Eefa, b,ceN B, @

a + b + c I EaH TH 8
A) 5 B) 4
C)9 D) 8
T % o T 1 AR B
A) 0 B) 1
C) w? D) w
'n' T o v frer it € afk avi
At o ot = ud we A e we
2, T A Gie & fore ST aTftean
e <l wE g
A) n B) N+1
2
) 1+ p D
T ohfsre f A o B 2 weamd @ S &
P(A) = 0.6, P(B) = 0.2 3 P(A|B) = 0.5
R}, @ PA'|B) =
A
A 1o
3
B) 10
3
C) g
6
D) ‘?
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122, Two finite sets have m and n elements

respectively. The total number of -

subsets of first set is 56 more than the
total number of subsets of the second

set. The values of m and n respectively
are

A)7,6
B) 5,1
C) 6,3
D) 8,7

123. The domain of the function f defined by

F(X) = e
S Ix|
A) R
B) R*
C) R

D) None of these

124. The value of sin 20° sin 40° sin 60°
sin 80° is

3
A) 16

5
B) —
)16

3
C)E

1
D) 16

122,

123.

124,

Bt aitfim 21 # A m et n wew E |
e % vt I Fer ve W e F wEdd
1 gorT # 56 AT 3 | m 3R n R
LTk

A) 7,6

B) 5, 1

C)6,3

D) 8,7

f(x)z\/xt‘ll.x_lﬁtrﬁ\ﬂﬁﬂwf&:’miﬁ
g -
A) R

B) A"

C) R"

D) T & 1 T

sin 20° sin 40° sin 60° sin 80° T HH &

3
A) 16

5
B) —!
)16

C)e—=

D) 16




b

125.

126.

127.

128.

If the complex number z = x + iy satisfies
the condition |z + 1| = 1, then z lies on

A) x - axis
B) circle with centre (1, 0) and radius 1
C) circle with centre (-1, 0) and radius 1
D) y - axis

i A=2i+3j,B=(Pi+9]j) and

€ =1 jare collinear, then the value
of Pis
1 3
A 3 8
C) 1 D)2
2 2

\a b ¢ |
b ¢ al=0anda+b+c0,then
|c a b
A)a=b,b=zc
B)a=b=c
C) a#b,b=#c,cza
D) None of these

Let f: R — R be defined by f(x) = sinx
and g: R — R be defined by g(x} = %,
then fog is

A} x2sinx
B) (sinx)?

C) sinx?
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125 AR g T z=x +iy W |z + 1] = 1

T GHTH 4l ®, 2 987 g
A) x-HH

B) (1, 0) %% it B=a1 1 awTT W
C) (-1, 0) %3 37 B 1 AT gH
D) y- &

126. afz A=2i+3},B=(Pi+9]) air

E=i-] omemE, A Ppwaa

A) B)

N o

i
1
2
c) 7 D)
2

aboc

127. 9 b ¢ al=0%Ra+b+c=0%, @

128.

c ab
A)a=b,b=#c
B) a=b=c

C)azb,bzc,cza

D) 3 & $§ T

At fF ¢ R > R @ f(x) = sinx@
gitsTia fRTg st g: R - R @
g(x) = x2 & gftriye fran ®, @ fog 2

~ A) x®sinx

B) (sinx)?
C) sinx?

sinx
D) e

7 PM PCM




o

129. The principal value of the expression

cos™'[cos(—680°)] is
A) —

B) —2n

C)gar

D)
9

130. The greatest and least values of
(sin~'x)? + (cos~*x)? are respectively
Ay — and —

B)

C)

131, (1=COSA _,
1+ cos A

A) cosec A—-tan A
B) cosec A—cot A
C) cosA+tan A
D) cos A-cotA

129.

130.

131.
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#AfAfFd cos-"[cos(—680°)] =1 Tq@
LIEk :

2n
A_.
) 3
B) —2%

C) 34n

(sin~'x)2 + (cos~"x)2 T 3Tferma R =R
HH F9E: @

2 2
A) bn aﬂ_{n

4 8

2 2
Ll el
4 4
ur
4

3t 0

C)

D)

1-cosA _,
1+cos A
A) cosec A-tan A
B) cosec A—cot A

C) cosA+tan A
D) cos A—cot A
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132.

133.

134.

135.

136.

What is the most general value of 8 which
satisfies both of the equations sin6 = :21
and tan@ = e ? (Where 0 <6< 2x7)

J3
A) In B) %
6 3
G D) *
6 2
2tan™ u + tr:m“1 =7
n 3 / n
A B) *
) 5 ) 5
2%
T 2en
C) i _ D) 4

The area of the triangle whose vertices
are A(3, 2), B(11,8)and C(8, 12) is

A} 85 sq. units
B) 25 sq. units
C) 50 sq. units
D) None of these

If P divides OA internally in the ratio
A, A,and Qdivides OA externally in the
ratio &,: A,, then OA is the of
OP and OQ.

A) Arithmetic mean

B) Geometric mean

C) Harmonic mean

D) None of these

dy
dx
B) 2xsin(x2+1)
D) None of these

If y = sin(x* + 1), then —~is
A} cos{x®+ 1)

C) 2xcos (x2+ 1)
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132.

133.

134.

135.

136.

-1 ‘ ’
Sing = o7 M tang = o)

V3
Ui T HATYTH A 9T 9 1 3T
TR AR IR ? (WRT0<0< 2n8)
A) n B) /™
6 3
c)r D) ®
6 2
2tan“%+tan"1=?
A) K B *
2 6
2n
n =
c D)

A(3, 2), B(11, 8) 3iR C(8, 12) Tid It
Prenivr = S 2
A) 85 sTEal
B) 25 71 swraf
C) 50 =7 swEAl
D) 374 A FE T

e OA i P 37iafs T H TIIE A, : A,
T fnka Far g IR OA R QIR ¥4 4
3T A, - A, B RS e 3, @t OP it
oQ = OARI

A) TR Ay

B) sufufoes meg

C) TTeHe T

D) ¥ & %K

IRy =sin(+ 1) 8, A gi ]

A) cos(x® +1) B) 2xsin(x®+1)

C) 2xcos (x2+1) D) T4 ¥ % 7
| 7 PM PCM
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137.

138.

139.

Ify= ,/xlog‘E X , then the value of gi
atx=eis
A) Ve
2 o
) T
o=t
) Ve
D) None of these
If x=a{8—sinB), y=a(l —coso )
dy .
then dxls
0
A) tan >
B) -cotE
2
C) sing
2
D) None of these
Let f and g be differentiable functions
satisfying g’'(a) = 2, g(@) = b, fog = 1
(Identity function). Then '(b) is equal to
1
A) L
) 2
B) 2
2
C)BE
) 3
D) None of these
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|

137.

138.

139.

ARy = xlog, X %,ﬁx:emgl =
TR X
A) Je
1
B) 2
1
C) 7;
D) 3T @ =g &

Ifé x = a({ 6 —sin), y = a(1 — cosb ) 8,

A i f6 f 31K g TaFa W =i
g'(a) = 2, g(a) = b, fog = I (TcUHT )
o A FA 2| @ (o) PR s ?
AL

2

B) 2
2
C) 5

D) 3 &1
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140.

{ 141.

142,

f 143.

3
If x = a cos0, y = bsing, then d—g is
X

A) —%cosec“ecot‘e
B) :E-cosec“ecote

C) —Zb—;cosec‘e cot®

D) None of these

Three squares of chess board are
selected at random. The probability
of getting 2 squares of one colour and

other of a different colour is

16 8
A 5 Bl
c) 2 D) 3

32 8

The total no. of terms in the expansion
of (x + a)5' — (x — a)*' after simplification
is

A) 102

B) 25

C) 26

D) None of these

If the coefficients of X’ and x? in

[2 + %J are equal, thenn is

A) 56
C) 45

B) 55
D) 15
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140.

141,

142.

143.

K}
Ife x = acosh, y = bsing B, Al g—);%
X

A) —gl—:-cosec“ecot“e
B) g—gcosec‘ecote

C) —ggcosec‘e cot@

D) ¥ & % 7l

TR WS o o7 9 1 Arefons R

ST | Wk T 2 9 i i v ate

TR ER it widmar &
16

A 5 21

3

C :
)32

D) 3
8

(X + a)* — (x ~ a)>' & WA & o
oo & e W it e @

A) 102

B) 25

C) 26

D) ¥H @ %K el

aﬁ(2+%Jnﬁx?aﬂtxﬁ 3 i
g, @ng

A) 56 B) 55
C) 45 D) 15
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144. Ina G.P. of positive terms, if any term is
equal to the sum of the next two terms.
Then the common ratio of the G.P. is

B) 2c_os 18°

D) 2sin 18°

A) sin 18°
C) cos 18°

145. Thetwolines ax+by=cand a’x +b'y =¢’

are perpendicular, if
A) aa'+bb'=0

B) ab'=ba’

c) ab+ab’=0

D) ab'+ba'=0

146. If f and g are continuous functions in
[0, 1] satisfying f(x) = f(a — x) and

9(x) + g(a—x) =4, then [f(x) g(x) dx
is equal to 0

A) % B) gjf(x)dx
o

C) Tf(x)dx D) a [f(x)dx
8] v]

2
147. jl X cos nx | dx is equal to
-2

4
A) B)

C)

T
D)
n

Al Aalw

C Page No. 36

144, oHE 92l F G.P. # It FE 18 a7 @
T & 9 & T R, d@f G.P. F1 W

UM &
A) sin 18° B) 2cos 18°
C) cos 18° D) 2sin 18°

145. 3 @ ax + by = ¢ 3 ax+b'y=c'
TAFR 7, Afe
A) aa’+bb'=0
B) ab'=ba’
c) ab+a'’’=0
D) ab'+ba'=0

146. AR[0, 1)Tf ¥ g R A EST1(X) = f{a—x)
3R g(x) + g(a — X) = a = T FW@ &,
A [fx) glx) dx =
4

a a
A 5 B) g l’ f(x)dx

C) jf(x)dx D) a j f(x)dx
[1] 0

2
147. j|xcosrcx|dx =
-2

8 4

A) B) %

2 1

C) ;t_ D) —
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148. The area enclosed by the circle

149.

150.

¥ +y?*=2is equal to
A) 4rn sq. units

B) 242 sq. units

C) 4xn?sq. units

D) 2x sq. ur_1its

It|a|=8,b|=3 and |axb|=12,
then value of a-bis

p) 643
B) 8v3
C) 1243

D) None of these

A line makes equal angles with
co-ordinate axis. Direction cosines
of this line are

L \) 1(11 1! 1)
'\13

)

U
Nt

(1
Bi'_'_":
W

)

| =

(1 1
i P Rt
C) *l3'3

N

1
V3’

I+

0 %)

148. 92 + y? = 2 31 Mg R mar &5 2

149.

150.

A) 4n i il
B) 22 =i swiat

C) 4r2af sdaf

D) 2n o T&at

#f|4|=8,[b|=3 s |axb|=1272,
@ a-bwAAe

a) 63
B) 83
C) 1243

D) 7 8 i el

T 1@ AN 3 d 9UeEt) S v =
i@ s Rmsmea €

A) £(1,1,1)

1 1 1
==
(5% 5)

=+

C)

1
+| —=,-
D) 3
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Answer Key for 7 PM PCM (Set-C)

. No. | Answer Key Q. No. | Answer Key Q. No. | Answer Key
1 B 51 A 101 A
2 D 52 c 102 C
3 B 53 B 103 A
4 B 54 c 104 B
5 C 55 B 105 C
6 Cc 56 A 106 C
7 D 57 B 107 A
8 A 58 Cc 108 Cc
9 D 59 B 109 B

10 C 60 Cc 110 c

11 D 61 C 111 )

12 B 62 A 112 A

13 D 63 A 113 B

14 C 64 c 114 A

15 A 65 A 115 C

16 Cc 66 C 116 A

17 B 67 B 117 B

18 B 68 B 118 C

19 B 69 D 119 B

20 D 70 D 120 C

21 D 71 B 121 C

22 C 72 C 122 C

23 D 73 A 123 D

24 D 74 A 124 Cc

25 A 75 B 125 C

26 B 76 B 126 C

27 B 77 c 127 D

28 B 78 A 128 C

29 B 79 D 129 A

30 D 80 D 130 A

31 B 81 A 131 B

32 D 82 B 132 A

33 D 83 C 133 C

34 C 84 D 134 B

35 A 85 A 135 C

36 D 86 B 136 C

a7 A 87 D 137 B

a8 B 88 A 138 B

39 D 89 Cc 139 A

40 Cc 90 D 140 c

41 B 91 D 141 A

42 A 92 B 142 C

43 C 93 A 143 B

44 A 94 D 144 D

45 C 95 A 145 A

46 D 96 C 146 B

47 C 97 A 147 A

48 D 98 D 148 D

49 B 99 A 149 C

50 C 100 A 150 B







